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Rather Shlomoh decreed for Kod’shim - OWTPY TN T NON

Overview

The X3 reconciles the various M1 of 0¥7°, that Ia%w was 2°7° RN M for
0°w7p and the 727 1" were 07> NXMW M3 even for 7170, Our NBOIN reconciles our
X713 with a seemingly contradictory X723,

nooIN asks:
- 1\0‘1‘,7)32 09 NNV PPRY 1327 RD¥PY 229 YINP (v 3,00 91 DINDVIT NP PI993T NN

It is astounding! for in the first P92 of 2502 Noon, ¥''9 stated, ‘we merited that
there is no 2°7° N2 in the wpni n°2’ -

- 2W1pna 0999 D31 INMV PRY RIMY9Y 75999
And the X773 there asked, ‘but let ¥"1 say that there is no 237> P2 and NRAY
2% in the wIpn’ -

= 193w) B9 N ONP 07 DTN 29 NV

And >''1 answered, ‘the 77°13 of 2°79 was taught before 295 n=91s -
=919 099N DY 990N 1INT I D2 12 HIMHIN XM *na9 1Y MmN

727 said to °", ‘but they were 2113 on both of them (2°721 2°7°) on the same day,

for the mwn teaches, 2°92771 2797 997, ete.’ are all 7m0 Y01 as part of the 727 1™,
which were all decreed 012 12.° This concludes the citation of the X3 in 2°1o5. MdYIN continues
with his question -

- 79349 17793 991 ©99) A1) NNYY BND 11T 6\’)‘1‘,7‘1 072 N1 D29 7999 NI NV

But now (that we say that 717w was 1M on 27 for o°w7p) what is 172 asking on ",
since regarding 27> of wIp, which the X n3 is discussing there (in 2°109), those

0°7 it was 9w who decreed that they are 701, and 2°92 were 2131 by the 227 1"y,
s0 > is right that 0>7> was decreed (by nn?w) before 0°%3 (by 727 1™ in the times of *1w n°2).

! This means that in the "5 if someone touched o*w7p with 0°7° ano the o°w7p remained M. However if someone
touched 0°w7p (the meat of 2°%p o°W7p N1127p) outside the "0, they will become 9109 and need to be burnt.

* "1 was seemingly referencing a 73w cited there (X1 2°no) that MY 2>7m Paos. It is from there that ¥ remarked
WIpna 070 NRMIY PRY 11001, However the X012 stated that the 1720 is also 717, so ¥"7 should have said nXm™w PRY 177
wIpna 0°991 0>, This is referring to 0°25 which came in contact with a 7Xmv? MR (which cannot be n'"n 0295 Xnwn).

> When this m1wn (that ny117v ©>7°M 1°5077) was written, there was only a 77°13 on 2°7° but not on 2°93, so ¥" could not
say WTpna 0°70 NRMIY PRW 1007, since at that time there was no 0°93 nXnw at all.

* In our N3 in 0°noD the text reads X271 MR (not 7727 77°% MR). X2 did not see 777 2.

3 See our mwn which states o2 121713 737 1.

® The mwn of ML 2 PM 1001 is discussing °w7p w1 in the wIpn.

7" answered that the 73wn of 121 12077 was taught before the 927 1> 013, but obviously after 25w Nt on o7
WP, therefore ¥"1 could only say w7pna 2°7° nRAIW PRY W7 (because outside the wTpn there was WTpP? 0°7° NRMY,
but there was no WP 2°75 nXMY even outside the "2
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Mo0IN answers:
= VvTIhn 1Y S’NP 937 NN N2YPY 2297 9190 U

And one can say; that '3 (when he said "12111°21) he was referencing the 927 n''s

which was recent -
= VIPNI 07 NIV 9939 189 XYY 079 93971 937 1A IPOYYIV 1T 9NRP 9N

And this is what y"1 said, ‘we merited that when the j127 were involved in the
927 n''> regarding 27>, that they did not want to decree 297> N2 in the wIpn’ —

mMdoIN responds to an anticipated difficulty:’
= 9V 91352 13950 NH%IYI DD NI ONP D1 VT AN’ 29

And >'"1 who answered (the question why did not ¥"7 mention 2°2> as well) that
2°7> was taught before 2°9> n=93, he was referring to the 07> n 1) that was in

the times of bW -
- 1YY M3 19%9N YTPNA Mt Nt 109N O9IYYT DIUN D31 RIN NIYPY $39 VDI XY 5909

So therefore »''% only mentioned 2°7% because this merit was always in the
w7rn even ' in the times of oW —

mooIn responds to an anticipated difficulty:12
$991 NIYOIY 9D ¥IWN XHT DIVN 9915 11999990 XN N9 1D AYPNI 9N 291 199N

Nevertheless ;7129 went back and questioned °"9, ‘but both, etc.” were enacted on
the same day, 7127 asked his question because the language of ¥"7 did not seem to

him to be following what >"1 assumed, namely tracing back the 101 to 7n%w *», but rather it
seemed to 7127 that ¥"7 was focused on the 727 "> exclusively.

Summary
It is (more) plausible that when ¥"7 stated w7pna 2’7 NXMV PRW 13°27, he was

referencing exclusively the 127 11", but not 725w N1

¥ mooin is retracting from his original understanding that ¥"3 was referring to the 71wn of 2>7°m 1207 (see footnote #
2), but rather ¥"9 was discussing something closer to his era; namely the 727 11", but we cannot assume that he was
discussing 7w n7° 13 which took place many hundreds of years before ¥".

% If indeed ¥"1 was referencing the 7127 1", how could *"1 answer that n°w1 0°%5 7 1 o7p 0°7°, when both 2°7° and
0°%3 were part of the 01°2 12727 n'"!

10 The n"a:7 N3 amends this to read WTpPna a1 Mot (instead of wIpna Mot AT M0).

' y"5 was indeed referencing the 127 "> and he expressed his appreciation that they were not wTpna 07 nXm A
(7m7n?), by saying we have merited that there never was 0>7° nRn1 even in the days of n%w. He could not have said
that regarding 0°3, because until the 7127 "> there never was 0°73 N,

12 According to this last answer that ¥"7 (even though he was referencing the 127 ">, nevertheless he) expressed his
appreciation that there was never WIpna 0°7° nXmW, what was s'127 question that 2°931 07> N7 were at the same
time, but ¥"1 was (sort of) extending the 13°37.
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Thinking it over
1. What is the meaning of 11°21, we merited; what merit are we discussing?

2. How are we to understand the dispute between 777° 27 and 727, whether the 11737
of ¥"1 was referring back to the 0>7> 313 of %W or not?

3. Why indeed were they not wTpn2 27> DRIV M3?
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